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Question 1. (20 marks)
Give an example of a protocol where a scaling issue caused the protocol to
be revised.

Explain the issue (the original problem), and show how it has been
overcome.

Question 2. (6 marks)

What is the most important value to know when attempting to determine the
maximum throughput obtainable using the TFTP protocol?

What about the design of the TFTP protocol causes that particular value to
be most important?

For file transfers using protocols based upon TCP, what additional factors
become important to determining the maximum throughput that is possible?

Question 3. (8 marks)

Give two (different) mechanisms that can be incorporated into a protocol to
allow the protocol to be extended later.

Explain in each case how that might be accomplished, using examples from
real protocols where possible.

Note: for this question, the two mechanisms in your answer should be of
different types, not just two variants of the same basic technique.

Question 4. (6 marks)
What purpose does UDP serve in the set of Internet Protocols?
Why would an application protocol choose to use UDP rather than TCP?

What does an application using UDP gain by using UDP rather than simply
using IP datagrams with no transport protocol at all?

— 2 — Question 4



240-574 / Internet and its Protocols Semester 1, 2005

Question 5. (20 marks)

Explain why altering the service provider of a network (the ISP) may cause
TCP connections that are open to fail.

What about TCP causes this to happen?

Why should altering the place of connection to the network (the service
provider) cause this to be affected?

What could be altered, either in TCP or elsewhere, to avoid this problem?

What might be the side effects of such an alteration (or, why has this not
already been done) ?
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